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sin(a + f) = sin acos 8 + cos asin 3 (1)
sin(a — ) = sin acos 8 — cos asin 3 (2)
cos(a + ff) = cos acos § — sin asin 3 (3)
cos(a — ) = cos acos § + sin asin 3 (4)

L2BADAK: (1) L QIKBNT, a=FeB0T, xR LEATAZLI0E-T, sinacosa
Zsin TR LRIV,

Sin 2Q = Zsiv\d(,pso{

2. ¥ADARK: (3) L (A)IZBNWT, a=F+BNT, WLBXEETAZLICLE-T, sin2a % cos
TRLRIV.
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FTHAK: (3) & (4)ICBNT, B4BIEXEE LT, sinasinf % cos DFITHE L7

CO‘(O‘*(’) - (os(d*p) = Zs:wdSi»ﬁ

4 HERCEBT AR (1) & () KBNT, DAELEZLARE. atfod, o f=B &
BT, sinA+sin B #sin & cos DFETHE L7 X0,

() +sin (dl-g) = Lsiuol Lsf3
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